Pesynbtathl BUHK

MocMmoTpeTb AaHHble 3a nepuogp 1,

boHyc 3a aHanMTUKY (nepuog 2)
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PenUTUHr (nepuogp, 2)
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dunHaHcoBbIe NnapameTpsbl (nepu1op, 2)
OcTtaTo4yHas OcTaTo4yHasa CTOMMOCTb
Yucrana Bbinnatbl no
3apnaara, CTOMMOCTb HemaTepuaJibHbIX
KomaHpaa npu6bINb, EPS KpeauTtam,
WIpA. pY6. TbiC. py6. | OCHOBHbIX CPEACTB, Y aKTUBOB,
mipa. py6. mipa. py6.
1 90,79 11,35 15,5 185,93 0,28 0
2 73,25 9,16 16,58 186,97 12,6 0
3 74,21 9,28 12,71 173,92 32,62 0
4 67,01 8,38 17,2 164,57 2,42 74,7
5 86,37 10,8 7,9 263,01 9,39 72
6 73,43 9,18 14,1 158,81 0 0
7 67,29 8,41 21,7 210,35 0 67,4
8 29,2 3,65 18,6 122,32 0 0
9 49,33 6,17 19,84 390,94 52,42 0
10 62,76 7,84 18,29 172,07 6,39 117,4

MocMmoTpeTb AaHHble 3a nepuoa 1, 2



http://localhost/admin_test/final.aspx?show=1
http://localhost/admin_test/final.aspx?show=2

